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* First we reviewed the latest Quizlet:

* A couple of points to note:

o If] — this particle tends to add emphasis
* If — this particle tends to make things sound more reciprocal

* g —in addition to returning a question, this particle emphasises the
continuity of the verb — that it’s in progress

« — | is one way to soften a verb, to stop it sounding too direct.

cEg 4—T, E—T, =T, #—TF

* 222 means ‘already’. Note carefully the small gap in the ‘loop’ of
the top component in 2


https://quizlet.com/294155167/copy-hsk-1-difficult-sentences-g-flash-cards/
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* Finally we did some more A7 /]

ek

* Assuming you’ve already transcribed it in pinyin, start trying to
memorise the latest Quizlet

» Keep on top of the vocab from this lesson

* In your 1R ZK, do exercise p.13 ex 2, using the dialogues from the
lesson (pp 10 and 11)

-Write it in characters if you have time. As far as possible, try to write
the characters from memory (or at least have a stab at it) before
checking the text.



